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-ambiguity in cach, 5%

1. He's got a iot of daugh.

2. John likes Kay better than Joan,

3. Every student thinks that she i5 a genis,
4. I'd love a Norwegian bicycle,

3. The beaver has sharp teeth,

a) Give the readings for each sentence, .
b) Label each type of ambiguity, using one of the tollowing labels:

seope ambiguity, generic/specific ambiguity, lexical ambiguity, strue
nonspecific/specific ambiguity

E. Consider the following patterns:  15%
I She is running,
She ran for a half hour,
*She ran in a half hour,
II. He's painting a picture,
*He painted a picture for a half hour.
He painted a picture in « half hour,

a) I)iscuss the differences between the I-type and the 11-type verbs.
b} Provide une more test to distinguish type-1 verbs from type-I1 verbs.

¢) Classify the verb phrases in the following sentences as to whether they are type-l verbs

or type-I1 verbs.

1. Mary ate three apples.
2. Mary ate apples.
1. Mary rode a horse.
4. Mary rode horses.
5. Mary walked from the universily to the station.
b. Mary walked from the university lowards the station.
7. Mary walked herself tired.

F. Consider the following examples: |00
L. Bill has_a car. 1t / The car is black.
2. Bill doesn’t have g gar. *1t / *The car is black.

In (1}, @ car introduces a new individual into a discourse far the pronoun or the definite
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feral ambiguity,
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noun phrase (o refer 1. But a ear in (2) fails to do 30 presumably because negation denjes
the existence of a car; hence (2) is inappropriate since it presupposes the existence of
something that is not thege,

Now examine the following sentences:

3a, John managed to find gy gpartment, The aparuent has a balcony.

3b. John didn’t manage i find andpariment.  *The aparinent has a baleony,

da. John failed to find gnswer,  *Il was Wrong,

4b. John didn’t fail to find dnanswer.  Lhe answer was even ri ght.

5a. Bill realized that he had adime. [t was under the sofa,

5b. Bill didn't realize that he had adime. It was in his pocket,

For each pair, discuss what factors determine whether the pronoun or the detinite noun
phrase can be coreferential to the indefinite NP or not.

- Consider the following data; 0%

lu. Martha kept Fido behind the garage.
Ib. *Martha stayed Fido behind the garage.
da. George kept Fido busy.

2b. *George stayed Fido bus ¥,

Ja, Karen kept Fido.

3h. *Karen stayed Fido,

4a. *Oscar kept behind the connter

1b. Oscar stayed behind the counter

3a, Jane kept busy,

3b. June stayed busy,

6a. *Harry kept.

6b. Harry stayed.

Your task is to give the subcategorization structures for the verbs stay and keep,
respectively, using the frame PHSAPPEAR NP},
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Part . Questions.  75%

1. In English, [s], [z], and [ & 2] are allomorphs of the regular plural morpheme.
Their oceurrence is determined by the word-final segment of the regular noun.
Use phonetic leatures to classify these word-final segments into three natural
classes of speech sounds.  10%

2. We know thal buth sentences in A and those in B may be produced by native
speakers of English. I you were a teacher of English, how would you incor-
porate the notion of “prescriptive grammar® and “deseriptive grammar™ in
explaining this linguistic phenomenon to your students?  10%

M B
she is taller than |, She is taller than me.
It doesn’t malter. It don't matier.
I wish T were a millionaire, I wish | was a millionaire.

3. a The-meaning of =/ in dialogue A is apparently different from the meaning of
= in dialogue B.  However, there should be certain semantic properties that
are shared by the expression = ~ whether it appears in dialapue A or I
Maine these shared semantic properties, 5%

[halogue A [halogue B
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b.

What makes the following dialogue funny; i.e., what semantic device is
involved? Yo
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Every language has sentences that include a Subject (S), an Object (), and a
Verb (V). Lanpuages have been classified according to the most commeon order
in which these occur in the sentence. Do vou think Mandarin Chinese is an
SVO or an SOV language? Give examples (0 support your argument.  10%,

What are language universals?  Please provide specilic examples from phono-
logy, synlax, and semantics for illustration. 109

Whal are the shared features of human language and animal communieation

~systems?  What are the characteristics that are pussessed by human langirage

Part

only?  How do these features contribute to the uniqueness of humans among all
hving animal species? | 59

Examine the following words and then answer the questions below. 0%,
A Televised B. TV-broadcasting

Decide the morphalogical process for gach word.
Decide the number of morphemes in each word.

Specily the type of each morpheme. (lexical ur grammatical, free or bound,
prefix or suffix, inflectional or derivational)

L

L]

1. Define the following terms and provide examples for illustration,
(choose FIVE only) 25%

Diacritics

Internal borrowing (analogic change)
[sogloss

Fis phenomenon

Markedness

Lateralization
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A Answer both of the following two guestions.  50%
1. Use the following examples o illusirate how conversational frames (which are usually

reahized through verbal cues) we used [or dilferent tlocutionary purposes,
a.  Tell you what, why don"l you slay over the weekend.
b. Do you know, John gol 3 promotion.
¢.  How many times have [ (old vou not to trust John?
d. Who's talking about getting married 7 Don't you ever listen?
e. Don't tell me you are be_-::nming Jealous of John.
2. The following figure presents the idealized form of categorical perception,  Please
discuss it in werma of specch perecphion.
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Stimalis Mumber Along Cratinsiim
B.  Choose one of the following two questions and answer it, 25%
3. What is a schema? What role does it play in discourse comprehension? What
educational implication does it have for weaching reading?
4. What are protolypes?  Discuss Prototype Theory in terms of mental iexicon,

C. Cheose gne of the followng two questions and answer it 25%

3. Describe the major hypotheses an the relationship belween language, culure, and
copnilion.  Give examples for illustration.

b Whal s Bernztein's Deficit Hypothesis on elabarated code and restricied code?
Argue for or against it, and explain how sociolingnistics car. be applied 1o solving
problems in testing, cansed by the use of a standard varicly?

Tl Tl

® o B e B

3

ey

-y




B . 9 ;':.éi':h—}‘-'b#ﬂ—ﬁﬂ{ﬁtﬂ'r” FYEARHEUNEI 5 OB 4 3-/ W

o

£ 4 H ..,&r’ Z

3w

A 1dentify the mﬂe:hnnal Elfﬂ.!iE!E. de-rwatiunal aflixes, roots, bases, and stems in the
[ollowing:  15%

[aiths irogmarched
fuithfully hookshops
uitfaithful window-cleaners
faithfulness hardships

B. Stwdy the following data:  15%

chartist morbid worker
comminist tepid painter
racist timid gwimmer
planist splendid dancer
anarchist horrid jopper

a) Divide the above words into their constituent morphs.

b) State the meaning of all the suffixes represented in the data.

¢) Find five more words which are formed using each of the suffixes that you have
identified.

d) State the word-class of the base to which cach suffix is added.

C. In Ewe, the liquids [1] and [r] arc the allophones of the same phoneme. While [r] oceurs
after alveolars and palatals, [I] occurs either initially, or between vowels, o after velars or
labials. Now study the following loanwords in Ewe Lwe sometimes has [1] where the
donor language has [r]: 20%

Ly

P German Krug > Fwe kplu Jug’

2. French Paris > Fwe kpali ‘Paris’

3. Portupuese  claro > Liwe klalo ‘finished'
4. Danish rappe > Lwe atrakpoe ‘steps’

a) It is obviously not the case that Ewe speakers “cannot pronounce the sound [r]", How
does the distribution statement stated ahove help to explain this apparenily irrepula
behavior?

b) Given the distribution of [I] and [r] as stated above, which one ol thein should he taken
as representing the hasic form, and which as representing their surface variants. State

YOUur reasons,

). Each of the following sentences can be said to be ambiguous, with a different source of
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